Using the concept of the multiplier effect, evaluate the likely effect on the UK price level and equilibrium real output of rising interest rates.
The multiplier effect is the concept that money spent by the government leads to a disproportionate increase in national income. This money Is spent and passed on to several different sub levels after the initial injection into the economy. These different sub levels are individuals and organizations that will in turn spend some of the money. They (through spending it) then will pass the money on to yet another individual who will spend it again. This whole process will cause the same money to be spent several times over within the economy hence increasing the amount of money flowing within an economy multiplying the effect of the original injection
Interest is a fee paid on borrowed capital.The increase in interest rates will lead to both an increase in saving and a decrease in spending. This is because due to the higher interest rates people will have more incentive to save, as they will receive more money via interest on their payments. Also there will be less incentive for people to take out loans as they will have to pay more back, hence the reduction in spending. Due to this, money will be taken out of the economy; and because of the multiplier effect it will be a larger proportionate withdrawal than it would have been otherwise. Due to this reduction in spending demand for goods will fall this subsequently will lead to a fall in price. Interest is a fee paid on borrow capital
This though depends on an economies marginal propensity to spend and save. If an economy has a high propensity to spend then a rise in interest rates will cause a smaller fall in either demand or price, due to the population wanting to buy the goods anyway. A factor that could affect the marginal propensity to save or spend is the type of the population. If the population is made up of mainly old people they are likely to have a high disposable income so will have a high marginal propensity to save. Another factor that could affect the marginal propensity to save and spend could be the average disposable income if a country has a low disposable income it is very likely that a change in prices would affect their ability to afford goods and services.
An increase in interest rates would also effect investment within an economy. Companies looking to invest within a country would find that taking out loans to do things such as building factories would be more costly. So as a result they would invest in other countries or now invest at all. This would mean within the economy less jobs than their would have been otherwise due to the lack of creation of new jobs; and also the lack of demand leading to companies cutting costs by laying of workers. This would then mean again a lower average income for people and so less money being spent within an economy, and thus due to the multiplier effect it would again be a proportionately larger amount of money not flowing within the economy. Making the withdrawal even more costly to the economy.
Though by how much investment falls, and so by how much unemployment rises depends on how well an economy is employing its resources and factors of production. If the economy is at full production and is employing its resources( in this case labour) to maximum efficiency (shown as AD1 on the diagram) then it is unlikely that output will fall because it is still working at maximum efficiency only the cost would fall as they would no longer have to pay as much for workers. But if resources were only being employed to semi efficiency (as shown as AD2) then it is more likely that both price and output will fall proportionality .Workers will start to leave their jobs as they aren’t being paid enough so efficiency will fall as well as price. Finally if resources aren’t being employed very efficiently at all (as shown as AD3) then it is likely that the output will decrease dramatically as they will become more and more inefficient and the price will not be reduced by anymore as they will have no more workers willing to work for them.
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